

WHEN PLACING A PURCHASE ORDER, PLEASE EMAIL TO IS@VALCOM.COM, OR CALL 1-800-825-2661 OPT 2 OR FAX 540-362-9800.

Quote: 00021453

Account Manager: Brian Bortz Created Date: 10/5/21

Expiration Date: 11/4/21

**Job Information** 

Job Name: The Accelerated School--VE6090-1 Account Name: Accelerated Schools

Customer Information				
Contact:	Cong Liu	Description:	*** VEEWS Annual Subscription Renewal -	
Name:	Accelerated Schools		\$900/Year (Direct to End User ***	
Address:	4000 S Main St			
	Los Angeles, CA 90037			
Email:	cong.liu@gmail.com			
Phone:	(310) 367-6177			

## **Product Information**

#	Qty	Product	Product Description		Total Price
1	7	VE8092	IP Interactive Console		\$16,800.00
2	90	VL520BK-F	IP Speaker with Text and Flasher, Black Finish	\$804.08	\$72,367.20
3	4	VL550F	IP Message Display w/Speaker & Flasher (41.75" W X 5.88" H)	\$986.48	\$3,945.92
4	4	V-WGVL550-2	Wire Guard for VL550 (Priced Individually, Ordered in Qty's of 2)	\$114.00	\$456.00
5	3	SM120	Rack-Mount 120 Watt Amplifier	\$764.56	\$2,293.68
6	2	VE8048AR	Networked Input and Relay Module (Rack Mount)	\$446.64	\$893.28
7	3	VE8004BR	SIP Compliant Quad Network Audio Port (Rack Mnt)	\$582.64	\$1,747.92
8	3	VE8012BR	Dual Network Station (FXS) Port (Rack Mnt)	\$582.64	\$1,747.92
9	3	VEADP4	Administrative Telephone	\$238.40	\$715.20
10	1	Misc Product	VEEWS (Valcom Earthquake Early Warning System) powered by ShakeAlert, 1-Time Installation, Activation, Training Fee, 1-Year Subscription	\$3,000.00	\$3,000.00
11	1	VE6090-1	IP6K Communication / Notification Server with SIP & UPS	\$10,472.00	\$10,472.00
12	3	VE1225	12 Port 25-Volt / 45ohm Talkback Gateway	\$3,840.00	\$11,520.00
13	4	VL580	IP PoE+ Large Display (80.75"W x 12.13"H x 3.0"D)	\$4,000.00	\$16,000.00

Total Price \$141,959.12

#### **Terms and Conditions**

- 1) The suggestions provided may or may not be suitable for your intended application. Please consider them carefully before incorporating it into your design. Valcom disclaims any responsibility for accuracy or completeness.
- 2) Pricing is in US Dollars and is valid for 30 days.
- 3) The above pricing excludes freight. All Shipments within the U.S.A. are FOB Roanoke, VA. All other shipments are EX-Works Roanoke, VA. Specify your carrier of choice when placing an order.
- 4) All information shown on this quote is confidential. If this information is provided to any other parties, this quote will be considered null and void. The quoted amount is your cost and may change if quantities are adjusted.

# Page 1 of 1



# THE ACCELERATED **SCHOOLS** 4000 S. MAIN STREET LOS ANGELES, CA 90037

Sales Tax:	\$700.02
Sub Total:	J41.090.00
Cub Totali	\$41,898.60
Other Charge	\$0.00
Dispatch	\$60.00
Services:	\$0.00
Materials:	\$7,368.60
Labor:	\$34,470.00
	Materials: Services: Dispatch

Quote Requested by: Cong Liu

Scope of Work: Install Customer Provided Equipment (CPE) Valcom IP Solution VE6025-100, display board/clocks/speakers combo, wall display boards and Valcom Consoles.

## 4000 S. Main Street

1. Install Enhanced Application Server 6025-100 IP Solution with following equipement,

VE8090 SIP controller, VE8004BR audio gateway, VE8048AR I/O relaygateway, VE8012BR FXS dual port with Valcom Admin phone.

- 2. Install 72 VL-520BK-F display/speaker combo's in classrooms and office.
- 3. Use existing CAT6 cables above ceiling to connect display/speaker combo's in classroom.
- 4. Install 4 medium size VL550F text/display board, see Cong for bcations.
- 5. Install 1 large size VL580 text/display board, see Cong for location.
- 6. Install 7 Valcom Consoles, see Cong for final locations.
- 7. Install amplifiers for common area and hallway one-way speakers.
- 8. Install VE8004 4 port audio gateway and connect to one way speakers in common area/hallways
- 9. Install admin phone for backup emergency paging/maintenance
- 10. Install rack mount UPS 1500W APC.
- 11. Program existing bell schedule for all 3 site locations.

# 116 East Martin Luther King Jr. Blvd

- 1. Install VE8012 dual port FXS. Connect port 1 to existing phone system and port 2 for maintenance.
- 2. Install Valcom Admin phone for backup emergency paging/maintenance.
- 3. Install 20 VL-520BK-F display/speaker combo's in classrooms.
- 3b. Install 3 VE1225 IP gateways. Connect to existing speakers. Existing clocks will remain in place.
- 4. Install CAT6 25' patch cords from LDC in each room and connect to display/speaker combo's in classroom.
- 5. Install amplifier for common area and hallway for one-way speakers.
- 6. Install VE8004 4 port audio gateway for common area and hallwayto one-way speakers.

Bid# 7442 04/22/2021 Page 1 of 3 Printed: 08/10/2021 11:24 AM (c) 2009 High 5 Software

Phone:

(909) 912-3333

(909) 912-3334





# THE ACCELERATED SCHOOLS 4000 S. MAIN STREET LOS ANGELES, CA 90037

- 7. Install VE8048BR for clock interface.
- 8. Install two new horns in open guad area and adjust down existing speakers.
- 9. Install 4 large size VL580 text/display boards at playground, Main ACES building, MPR and Lobby area.
- 10. Install conduit for VL580 playground area. Extend existing path to Display board location, see pic's.
- 11. Pull 3 CAT6 cables for display boards ACES main building, Playground area and lobby area.
- 12. Install rack mount UPS 1500W APC.

# 119 E. 37 Street

7442

04/22/2021 Page 2 of 3

Bid#

- 1. Install 4 VL-520BK-F display/speaker combo's in classrooms.
- 2. Install 4 CAT6 cable for display/speaker combo one in each classroom. Connect to nearest LDF/IDF.
- 3. Use existing raceway and add additional raceway where required.
- 3. Install VE8004 (4) port audio gateway, connect to existing-24 power supply for common area and hallways to one-way speakers.
- 4. Install VE8012 Dual port FXS. Connect to existing phone system and Admin phone
- 5. Install admin phone for backup emergency paging/maintenance.
- 6. Install rack mount UPS 1500W APC.

# Warranty: Only work described above is covered by One (1) year warranty, includes are parts, software and labor under normal use.

Proposed L	abor			
Date	Technician	Labor Hrs Rate/Hr.		Total
04/22/2021	PROJECT MANAGEMENT	1.00 1,360.00		\$1,360.00
04/22/2021	VALCOM - INSTALL	1.00 4,310.00		\$24,310.00
04/22/2021	VALCOM - TECH	1.00 6,080.00		\$6,080.00
08/10/2021	TECHNICAL SERVICES	1.00 2,720.00		\$2,720.00
Proposed M	Materials		Total	\$34,470.00
Toposca iv	interiors —			
Item Nbr	Item Description	Qty	Price/Unit	Ext. Price
V-1036M	SPEAKER 15-WATT MARINE HORN WHITE	2.00	\$220.04	\$440.08
VP-4124D	POWER SUPPLY SWITCH 24VDC 4A	1.00	\$264.10	\$264.10
C6-568B-2!	PATCH CORD CAT6 25' MOLDED (BLUE)	77.00	\$10.50	\$808.50
200	INSTALLATION MATERIAL 6	4.00	\$200.00	\$800.00
66-240-2B	CABLE 4 PAIR CAT6 PLENUM BLUE ENH- PULL	1,800.00	\$0.45	\$810.00
61110-RL6	RJ45 CAT6 DATA JACK BLUE	16.00	\$11.20	\$179.20
SUA1500R	UPS APC 1500VA 2U RM	3.00	\$1,296.58	\$3,889.74
EMT-75	CONDUIT EMT 3/4" X 10'	5.00	\$12.00	\$60.00

Quality Teleservices Inc.
280 N. Benson Ave Suite #5
Upland, CA 91786

P

Phone: (909) 912-3333 Fax: (909) 912-3334

EMail: service@qualityteleservices.com

Printed: 08/10/2021 11:24 AM (c) 2009 High 5 Software





# THE ACCELERATED **SCHOOLS** 4000 S. MAIN STREET LOS ANGELES, CA 90037

KILL EL 3/4	CONDUIT LB-3/4"	3.00	\$23.14	\$69.42	
DOT MTW7	CONDUIT STRAP 1 HOLE 3/4"	20.00	\$0.22	\$4.40	
REGAL 602	CONNECTOR COMPRESSION 3/4" DIE CAST	6.00	\$1.14	\$6.84	
2603	CONNECTOR BOX 3/4" EMT SET SCREW	8.00	\$4.54	\$36.32	
			Total	\$7,368.60	

Bid# 7442 04/22/2021 Page 3 of 3

> Quality Teleservices Inc. 280 N. Benson Ave Suite #5 Upland, CA 91786

Phone: (909) 912-3333 (909) 912-3334 Fax:

EMail: service@qualityteleservices.com

Printed: 08/10/2021 11:24 AM (c) 2009 High 5 Software